Contract 22-18 - Pratt Trail I	Reconstruction (#	8277939)						
Owner: Oshkosh WI, City o	of							
Solicitor: Oshkosh WI, City								
Bid Opening: 09/19/2022 11	:00 AM CDT							
Dia Opening. 03/13/2022 11	100 11111 CD 1							
					Vinton Constan	ation Company	Dorne	u Inc
	_	Vinton Construction Company 1322 33rd Street					Donie	i iiic.
	_							
o d mid		7. 5	*** ***	0 111	Two Rivers	•	** !: D !	<b>.</b>
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section 1		ar .				\$1,128,741.90		\$1,139,501.50
		Clearing; complete as						
	1011	specified	Inch Diameter	100.00	\$35.00	\$3,500.00	\$31.20	\$3,120.00
		Grubbing; complete as						
	1021	specified	Inch Diameter	120.00	\$35.00	\$4,200.00	\$20.80	\$2,496.00
		Mobilization; complete as						
	1050	specified	Lump Sum	1.00	\$78,500.00	\$78,500.00	\$34,000.00	\$34,000.00
		Removing pavement;						
	1100	complete as specified	Square Yards	650.00	\$9.00	\$5,850.00	\$1.60	\$1,040.00
		Removing curb and						
		gutter; complete as						
	1110	specified	Linear Feet	900.00	\$6.00	\$5,400.00	\$2.50	\$2,250.00
		Removing concrete and						
		asphalt sidewalk and						
		driveway; complete as						
	1120	specified	Square Feet	120.00	\$2.50	\$300.00	\$2.10	\$252.00
		Remove; salvage; and						
		replace chain link fence;						
	1150	complete as specified	Linear Feet	225.00	\$52.00	\$11,700.00	\$52.00	\$11,700.00
		Unclassified excavation;						
	1200	complete as specified	Cubic Yards	8,200.00	\$0.01	\$82.00	\$13.80	\$113,160.00
		Excavation special						
		(paving); complete as						
	1220	specified	Tons	120.00	\$20.00	\$2,400.00	\$16.40	\$1,968.00
		7" concrete pavement;						
		with 5" CABC and						
		grading; complete as						
	1301	specified	Square Yards	110.00	\$70.00	\$7,700.00	\$78.80	\$8,668.00
		8" concrete pavement	-	1				
	1	speed table; with 6"						
		CABC and grading;						
	1333	complete as specified	Each	3.00	\$8,150.00	\$24,450.00	\$8,270.00	\$24,810.00
		Turf restoration;				·		· · · · · · · · · · · · · · · · · · ·
	1370	complete as specified	Square Yards	2,500.00	\$9.63	\$24,075.00	\$9.20	\$23,000.00
		12" radius curb with 6"	•			·		·
	1	CABC and grading;						
	1410	complete as specified	Linear Feet	60.00	\$48.00	\$2,880.00	\$52.60	\$3,156.00
		30" curb and gutter; 7";			, ,,,,,,	, ,	1	,
	1	with 5" CABC and						
	1	grading; complete as						
	1440	specified	Linear Feet	775.00	\$51.00	\$39,525.00	\$54.40	\$42,160.00

Contract 22-18 - Pratt Trail	Reconstruction (#	8277939)						
Owner: Oshkosh WI, City								
Solicitor: Oshkosh WI, Cit								
	,							
Bid Opening: 09/19/2022 1	1:00 AM CDT							
214 Opening. 03/13/2022 1	100111111111111111111111111111111111111							
					Vinton Constru	ction Company	Dorne	r Inc
					1322 33r	• •	Dome	i iiic.
					Two Rivers			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
Section Title	Helli Code	4" concrete sidewalk with	COIN	Qualitity	Omerace	Extension	Omit Trice	Extension
		3" CABC and grading;						
	1500	complete as specified	Causano Essat	3,000.00	\$7.65	\$22,950.00	\$6.40	\$19,200.00
	1500	6" concrete sidewalk/	Square Feet	3,000.00	\$7.03	\$22,930.00	\$6.40	\$19,200.00
		driveway/ramp with 3"						
		CABC and grading;						
	1510	0 0	C F .	2 500 00	#O 40	#21 000 00	<b>#</b> 7.10	#1E EEO O
	1510	complete as specified Curb ramp detectable	Square Feet	2,500.00	\$8.40	\$21,000.00	\$7.10	\$17,750.00
		-						
		warning field						
	4540	(natural/non-painted);		200.00	425.00	4= 000 00	<b>*** *** **</b>	AT 200 00
	1540	complete as specified	Square Feet	200.00	\$35.00	\$7,000.00	\$36.40	\$7,280.00
		No. 4 reinforcing rods -						
	4550	deformed; epoxy-coated;		450.00	42.50	*********	<b>†2</b> (2)	#200.00
	1550	complete as specified Drilled No. 4 sidewalk tie	Linear Feet	150.00	\$2.50	\$375.00	\$2.60	\$390.00
		bars - deformed; epoxy-						
		coated; complete as				****		
	1560	specified	Each	40.00	\$6.00	\$240.00	\$6.20	\$248.00
		Cold weather covering						
		(sidewalk) - single						
		visquine; complete as						
	1580	specified	Square Feet	250.00	\$0.01	\$2.50	\$1.00	\$250.00
		Cold weather covering						
		(sidewalk) - double						
		visquine; complete as						
	1582	specified	Square Feet	250.00	\$0.01	\$2.50	\$1.80	\$450.00
		Cold weather covering						
		(sidewalk) - double						
		visquine with 6" hay;						
	1584	complete as specified	Square Feet	250.00	\$0.01	\$2.50	\$3.60	\$900.00
		Up-charge for late season						
		cold weather concrete						
		sidewalk; complete as						
	1590	specified	Cubic Yards	100.00	\$0.01	\$1.00	\$20.80	\$2,080.00
		Locate existing property						
		monuments; complete as						
	1650	specified	Each	2.00	\$200.00	\$400.00	\$520.00	\$1,040.00
		Replace existing property						
		monuments; complete as						
	1652	specified	Each	2.00	\$200.00	\$400.00	\$52.00	\$104.00

Contract 22-18 - Pratt Trail I	Reconstruction (#	8277939)			Ī			
Owner: Oshkosh WI, City o		02///00//						
Solicitor: Oshkosh WI, City								
Solicitor. Oshkosh Wi, City	1							
Bid Opening: 09/19/2022 11	-00 AM CDT							
bid Opening: 09/19/2022 11	:00 AM CD1							
					77. 1 6 1			T
					Vinton Constru	. ,	Dorne	r Inc.
					1322 33r			
					Two Rivers	•		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Sawing existing						
		pavement; complete as						
	1700	specified	Linear Feet	600.00	\$2.50	\$1,500.00	\$2.10	\$1,260.00
		Base aggregate dense; 1-						
		1/4"; complete as						
	1801	specified	Tons	3,750.00	\$20.05	\$75,187.50	\$9.90	\$37,125.00
·		Base aggregate dense; 3";						<u> </u>
	1802	complete as specified	Tons	6,100.00	\$25.55	\$155,855.00	\$16.00	\$97,600.00
		Tack coat; complete as						
	1900	specified	Gallons	1,200.00	\$3.94	\$4,728.00	\$4.10	\$4,920.00
		HMA Pavement LT;						
	1901	complete as specified	Tons	4,150.00	\$90.50	\$375,575.00	\$93.20	\$386,780.00
		HMA cold weather						
		paving; complete as						
	1903	specified	Tons	200.00	\$0.01	\$2.00	\$93.20	\$18,640.00
		Prepare foundation for						·
		asphaltic paving;						
	1960	complete as specified	Lump Sum	1.00	\$27,139.00	\$27,139.00	\$27,955.00	\$27,955.00
		Pavement markings;	1		. ,		,	
		epoxy; 4" (white);						
	1974	complete as specified	Linear Feet	1,250.00	\$4.00	\$5,000.00	\$4.20	\$5,250.00
		Pavement markings;		3,20000	4 -100	40,000.00	4.5.2.5	4+/=++++
		epoxy; 4" (yellow);						
	1975	complete as specified	Linear Feet	325.00	\$2.50	\$812.50	\$2.60	\$845.00
	1770	Pavement markings;	Ellicar rect	525.00	Ψ2.00	ψ012.50	Ψ2.00	φ010.00
		epoxy; 8" (white);						
	1976	complete as specified	Linear Feet	60.00	\$7.30	\$438.00	\$7.60	\$456.00
	1976	Pavement markings;	Linear reet	60.00	\$7.50	\$438.00	\$7.60	\$ <del>4</del> 50.00
		cross-walk epoxy; 6"						
		(white); complete as						
	1077		LinconFoot	(75.00	¢0.50	¢ć 412 F0	#0.00	ΦC (92 FO
	1977	specified	Linear Feet	675.00	\$9.50	\$6,412.50	\$9.90	\$6,682.50
		Pavement markings; stop-						
	1070	line epoxy; 18" (white);	T	000 00	#40 <b>=</b> 0	#0 too oo	#40.00	фо <b>=2</b> 0 00
	1978	complete as specified	Linear Feet	800.00	\$10.50	\$8,400.00	\$10.90	\$8,720.00
		Pavement markings;						
		arrow epoxy; Type 2						
		(white); complete as						
	1980	specified	Each	4.00	\$225.00	\$900.00	\$234.10	\$936.40

Contract 22-18 - Pratt Trail	Reconstruction (#	8277939)						
Owner: Oshkosh WI, City		02/1909)						
Solicitor: Oshkosh WI, Cit								
Solicitor. Oshkosh Wi, Cit	y 01							
Bid Opening: 09/19/2022 1	1.00 AM CDT							
bid Opening. 09/19/2022 1	1.00 AM CD1			<del>                                     </del>				
					Water Constant	· · · · · · · · · · · · · · · · · · ·	D	T
					Vinton Construc	* '	Dorner	Inc.
					1322 33rd			
					Two Rivers,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Pavement markings;						
		arrow epoxy; Type 3						
		(white); complete as						
	1981	specified	Each	1.00	\$250.00	\$250.00	\$260.10	\$260.10
		Pavement markings;						
		word; epoxy (white);						
	1983	complete as specified	Each	2.00	\$150.00	\$300.00	\$156.00	\$312.0
		Pavement markings;						
		symbol; epoxy (white);						
	1984	complete as specified	Each	7.00	\$215.00	\$1,505.00	\$223.70	\$1,565.9
		Furnish and install 8"						
		storm sewer; complete as						
	2001	specified	Linear Feet	10.00	\$76.00	\$760.00	\$156.00	\$1,560.00
		Furnish and install 10"						·
		storm sewer; complete as						
	2002	specified	Linear Feet	5.00	\$86.00	\$430.00	\$266.00	\$1,330.00
		Furnish and install 12"			·	·	·	
		RCP Class III storm						
		sewer; complete as						
	2004	specified	Linear Feet	700.00	\$73.10	\$51,170.00	\$75.00	\$52,500.00
	2001	Furnish and install 15"	Zinear reet	700.00	ψ, 0.10	φο 1/17 οι ο ο	ψ, σ.σσ	\$0 <b>2</b> /000.0
		RCP Class III storm						
		sewer; complete as						
	2007	specified	Linear Feet	390.00	\$78.90	\$30,771.00	\$80.00	\$31,200.0
	2007	Furnish and install 18"	Linear Feet	370.00	Ψ70.90	\$30,771.00	\$60.00	\$51,200.00
		RCP Class III storm						
		sewer; complete as						
	2010	specified	Linear Feet	45.00	\$83.80	\$3,771.00	\$100.00	\$4,500.00
	2010	Furnish and install 21"	Linear reet	45.00	ф03.60	\$3,771.00	\$100.00	\$4,500.00
		RCP Class III storm						
	2012	sewer; complete as	T. T.	0.00	#124.00	#1 000 00	#202.00	ф1 <b>(24</b> 0)
	2013	specified Furnish and install 24"	Linear Feet	8.00	\$126.00	\$1,008.00	\$203.00	\$1,624.0
		RCP Class III storm						
		sewer; complete as						
	2016	specified	Linear Feet	7.00	\$142.00	\$994.00	\$233.40	\$1,633.8
		Furnish and install						
		standard storm sewer						
		manhole (4' diameter);						
	2201	complete as specified	Vertical Feet	13.00	\$919.00	\$11,947.00	\$969.00	\$12,597.00

Contract 22-18 - Pratt Trail R	econstruction (#	8277939)				T		
Owner: Oshkosh WI, City of		02//303)						
Solicitor: Oshkosh WI, City								
Solicitor. Oslikosli VVI, City	01							
Bid Opening: 09/19/2022 11:	00 AM CDT							
Did Opening. 09/19/2022 11.0	OU AIVI CD I			-				
					Vintan Canatau	tion Commons	Dama	
					Vinton Construc		Dorne	r Inc.
					1322 33rd			
					Two Rivers,			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		standard storm sewer						
		manhole (6' diameter);						
	2203	complete as specified	Vertical Feet	2.90	\$1,139.00	\$3,303.10	\$2,210.00	\$6,409.00
		Furnish and install						
		standard storm sewer						
		inlet manhole (4'						
		diameter); complete as						
	2213	specified	Vertical Feet	14.90	\$1,059.00	\$15,779.10	\$472.00	\$7,032.80
		Furnish and install Type 3						
		inlet (with 18" sump);						
	2237	complete as specified	Each	18.00	\$2,989.00	\$53,802.00	\$3,500.00	\$63,000.00
		Furnish; install; maintain;						
		and remove Type D						
		modified inlet protection;						
	2508	complete as specified	Each	46.00	\$108.32	\$4,982.72	\$125.00	\$5,750.00
		Sediment removal - Type						
		D modified inlet						
		protection; complete as						
	2510	specified	Each	46.00	\$9.88	\$454.48	\$20.00	\$920.00
		Furnish; install; maintain;						
		and remove stone bag;						
	2516	complete as specified	Each	20.00	\$18.10	\$362.00	\$20.00	\$400.00
		Abandon 8" - 12" storm						
		sewer; complete as						
	2800	specified	Linear Feet	35.00	\$10.00	\$350.00	\$10.00	\$350.00
		Connect to existing storm						
		sewer main; complete as						
	2850	specified	Each	9.00	\$475.00	\$4,275.00	\$680.00	\$6,120.00
		Connect to existing storm						
		sewer manhole; complete						
	2856	as specified	Each	2.00	\$525.00	\$1,050.00	\$650.00	\$1,300.00
		Storm sewer utility line						
		opening (ULO); complete						
	2914	as specified	Each	2.00	\$500.00	\$1,000.00	\$650.00	\$1,300.00
		Excavation special						
		(storm); complete as						
	2950	specified	Tons	150.00	\$15.00	\$2,250.00	\$14.80	\$2,220.00

Contract 22-18 - Pratt Trail	Reconstruction (#	8277939)						
Owner: Oshkosh WI, City	of							
Solicitor: Oshkosh WI, Cit	y of							
Bid Opening: 09/19/2022 1	1:00 AM CDT							
					Vinton Constru	1 /	Dorne	er Inc.
					1322 33r			
					Two Rivers			
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension	Unit Price	Extension
		Furnish and install						
		standard sanitary sewer						
		manhole (2' diameter);						
	3113	complete as specified	Each	2.50	\$743.00	\$1,857.50	\$1,144.00	\$2,860.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal;						
	3114	complete as specified	Each	2.00	\$610.00	\$1,220.00	\$375.00	\$750.00
		Furnish and install						
		sanitary sewer external						
		manhole chimney seal						
		extension; complete as						
	3116	specified	Each	1.00	\$415.00	\$415.00	\$325.00	\$325.00
		Furnish and install 4"/6"						
		Schedule 80 sanitary						
		sewer lateral (relay);						
	3250	complete as specified	Linear Feet	100.00	\$95.00	\$9,500.00	\$120.00	\$12,000.00
		Closed circuit televising -						
		using push camera;						
	3710	complete as specified	Each	1.00	\$350.00	\$350.00	\$1,040.00	\$1,040.00
Bid Total:						\$1,128,741.90		\$1,139,501.50

Contract 22-18 - Pratt Trail Reconst Owner: Oshkosh WI, City of Solicitor: Oshkosh WI, City of	inction (#C	,_,,,,,,				
					J	
Sometion: Oshkosh W1, City of				-		
,						
P: 1 On oning: 00/10/2022 11:00 AM	CDT					
Bid Opening: 09/19/2022 11:00 AM	ICDI					
					4.1	
					Advance Con	struction Inc.
	em Code	Item Description	UofM	Quantity	Unit Price	Extension
Section 1						\$1,173,114.25
		Clearing; complete as				
	1011	specified	Inch Diameter	100.00	\$24.00	\$2,400.00
		Grubbing; complete as				
	1021	specified	Inch Diameter	120.00	\$24.00	\$2,880.00
		Mobilization; complete as				
	1050	specified	Lump Sum	1.00	\$24,000.00	\$24,000.00
	4400	Removing pavement;		(=0.00	<b>*</b> 4 4 4 0	** ***
	1100	complete as specified Removing curb and	Square Yards	650.00	\$4.40	\$2,860.00
	1110	gutter; complete as	T. Sansan Frank	000.00	¢Ε 40	¢4.960.00
	1110	specified Removing concrete and	Linear Feet	900.00	\$5.40	\$4,860.00
		asphalt sidewalk and				
		•				
	1120	driveway; complete as specified	Caucana Ecot	120.00	\$1.00	\$120.00
	1120	Remove; salvage; and	Square Feet	120.00	\$1.00	\$120.00
		replace chain link fence;				
	1150	complete as specified	Linear Feet	225.00	\$50.00	\$11,250.00
	1150	Unclassified excavation;	Linear Feet	223.00	φ30.00	\$11,230.00
	1200	complete as specified	Cubic Yards	8,200.00	\$13.00	\$106,600.00
	1200	Excavation special	cubic rurus	0,200.00	Ψ10.00	ψ100,000.00
		(paving); complete as				
	1220	specified	Tons	120.00	\$9.90	\$1,188.00
		7" concrete pavement;			4	4-7
		with 5" CABC and				
		grading; complete as				
	1301	specified	Square Yards	110.00	\$75.00	\$8,250.00
		8" concrete pavement			·	· ,
		speed table; with 6"				
		CABC and grading;				
	1333	complete as specified	Each	3.00	\$8,000.00	\$24,000.00
		Turf restoration;				
	1370	complete as specified	Square Yards	2,500.00	\$9.00	\$22,500.00
		12" radius curb with 6"	-			
		CABC and grading;				
	1410	complete as specified	Linear Feet	60.00	\$51.00	\$3,060.00
		30" curb and gutter; 7";				
		with 5" CABC and				
		grading; complete as				
	1440	specified	Linear Feet	775.00	\$53.00	\$41,075.00

Contract 22-18 - Pratt Trail Re	construction (#	8277939)				
Owner: Oshkosh WI, City of		3211303)				
Solicitor: Oshkosh WI, City o	<u> </u>			+		
Solicitor. Oshkosh Wi, City o	1			1		
Bid Opening: 09/19/2022 11:0	O AM CDT					
Did Opening. 07/17/2022 11:0	O ANI CD I			+		
				+	Advance Con	struction Inc
				+	Advance Con	struction inc.
				+		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section Time	Trem cone	4" concrete sidewalk with	001111	Quantity	O.M. T. T.CC	Extension
		3" CABC and grading;				
	1500	complete as specified	Square Feet	3,000.00	\$6.20	\$18,600.00
	1000	6" concrete sidewalk/	oquare reet	3,000.00	<b>\$0.20</b>	\$10,000.00
		driveway/ramp with 3"				
		CABC and grading;				
	1510	complete as specified	Square Feet	2,500.00	\$6.95	\$17,375.00
	1010	Curb ramp detectable	oquare reet	2,000.00	40.50	\$17,670.00
		warning field				
		(natural/non-painted);				
	1540	complete as specified	Square Feet	200.00	\$35.00	\$7,000.00
	1010	No. 4 reinforcing rods -	oquare reet	200.00	φου.σο	ψ1,000.00
		deformed; epoxy-coated;				
	1550	complete as specified	Linear Feet	150.00	\$2.50	\$375.00
	1550	Drilled No. 4 sidewalk tie	Ellical Teet	150.00	ψ2.30	ψ575.00
		bars - deformed; epoxy-				
		coated; complete as				
	1560	specified	Each	40.00	\$6.00	\$240.00
	1500	Cold weather covering	Lucii	10.00	ψ0.00	Ψ210.00
		(sidewalk) - single				
		visquine; complete as				
	1580	specified	Square Feet	250.00	\$0.01	\$2.50
	1500	Cold weather covering	oquare reet	250.00	ψ0.01	Ψ2.50
		(sidewalk) - double				
		visquine; complete as				
	1582	specified	Square Feet	250.00	\$0.01	\$2.50
	1502	Cold weather covering	oquare reet	250.00	ψ0.01	Ψ2.50
		(sidewalk) - double				
		visquine with 6" hay;				
	1584	complete as specified	Square Feet	250.00	\$0.01	\$2.50
	1001	Up-charge for late season	oquare reet	200.00	40.01	φ2.50
		cold weather concrete				
		sidewalk; complete as				
	1590	specified	Cubic Yards	100.00	\$0.01	\$1.00
	1	Locate existing property			43.01	41.00
		monuments; complete as				
	1650	specified	Each	2.00	\$500.00	\$1,000.00
		Replace existing property			422300	4-,000
		monuments; complete as				
	1652	specified	Each	2.00	\$50.00	\$100.00
	1002	- F	Luci	2.00	\$50.00	\$100.00

Contract 22-18 - Pratt Trail Re	construction (#	8277939)				
Owner: Oshkosh WI, City of	I					
Solicitor: Oshkosh WI, City of	f					
Solicitor. Oshikosh vvi, City o	1					
Bid Opening: 09/19/2022 11:00	AMCDT					
Did Opening. 09/19/2022 11:00	I					
					A 1 C	atau atta a Tara
					Advance Con	struction inc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
Section Title	item code	Sawing existing	COLIVI	Qualitity	Omit i nee	Extension
		pavement; complete as				
	1700	specified	Linear Feet	600.00	\$3.50	\$2,100.00
	1700	Base aggregate dense; 1-	Linear reet	600.00	\$5.50	\$2,100.00
		1/4"; complete as				
	1801	-	Т	2.750.00	¢17.50	ф.С. « <b>2</b> Е 00
	1801	specified	Tons	3,750.00	\$17.50	\$65,625.00
	1000	Base aggregate dense; 3";	<b>T</b>	( 100 00	#1 <b>5</b> 50	#104 750 00
	1802	complete as specified	Tons	6,100.00	\$17.50	\$106,750.00
	1000	Tack coat; complete as	C 11	1 200 00	#2.00	#4 (00 00
	1900	specified HMA Pavement LT;	Gallons	1,200.00	\$3.90	\$4,680.00
	1001		<b>T</b>	4.150.00	#00.60	#271 040 00
	1901	complete as specified	Tons	4,150.00	\$89.60	\$371,840.00
		HMA cold weather				
		paving; complete as	_		***	
	1903	specified	Tons	200.00	\$89.60	\$17,920.00
		Prepare foundation for				
		asphaltic paving;			*****	
	1960	complete as specified	Lump Sum	1.00	\$26,870.00	\$26,870.00
		Pavement markings;				
		epoxy; 4" (white);				
	1974	complete as specified	Linear Feet	1,250.00	\$5.25	\$6,562.50
		Pavement markings;				
		epoxy; 4" (yellow);				
	1975	complete as specified	Linear Feet	325.00	\$0.65	\$211.25
		Pavement markings;				
		epoxy; 8" (white);				
	1976	complete as specified	Linear Feet	60.00	\$0.94	\$56.40
		Pavement markings;				
		cross-walk epoxy; 6"				
		(white); complete as				
	1977	specified	Linear Feet	675.00	\$7.40	\$4,995.00
		Pavement markings; stop-				
	1	line epoxy; 18" (white);				
	1978	complete as specified	Linear Feet	800.00	\$14.10	\$11,280.00
	1	Pavement markings;		1		
		arrow epoxy; Type 2				
	1	(white); complete as				
	1980	specified	Each	4.00	\$310.00	\$1,240.00

Contract 22-18 - Pratt Trail I	Reconstruction (#	8277939)				
Owner: Oshkosh WI, City o	_	0211939)		1		
•						
Solicitor: Oshkosh WI, City	or					
Bid Opening: 09/19/2022 11	-00 AM CDT			+		
Did Opening. 07/17/2022 11	.00 AM CD I			1		
				+	Advance Con	struction Inc
				+	Advance Con	struction mc.
				1		
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
occion Tine	Trem coue	Pavement markings;	001111	Quantity	O MAY THEE	2Attition 1
		arrow epoxy; Type 3				
		(white); complete as				
	1981	specified	Each	1.00	\$380.00	\$380.00
	1701	Pavement markings;	Each	1.00	ф360.00	\$380.00
		word; epoxy (white);				
	1983		Each	2.00	\$340.00	¢690.00
	1983	complete as specified	Eacn	2.00	\$340.00	\$680.00
		Pavement markings;				
	1004	symbol; epoxy (white);	Б. 1	7.00	ф1 <b>7</b> 5 00	#1 225 00
	1984	complete as specified	Each	7.00	\$175.00	\$1,225.00
		Furnish and install 8"				
	2004	storm sewer; complete as		40.00	40= 00	#0=0 00
	2001	specified	Linear Feet	10.00	\$95.00	\$950.00
		Furnish and install 10"				
		storm sewer; complete as				
	2002	specified	Linear Feet	5.00	\$110.00	\$550.00
		Furnish and install 12"				
		RCP Class III storm				
		sewer; complete as				
	2004	specified	Linear Feet	700.00	\$90.00	\$63,000.00
		Furnish and install 15"				
		RCP Class III storm				
		sewer; complete as				
	2007	specified	Linear Feet	390.00	\$95.00	\$37,050.00
		Furnish and install 18"				
		RCP Class III storm				
		sewer; complete as				
	2010	specified	Linear Feet	45.00	\$100.00	\$4,500.00
		Furnish and install 21"				
		RCP Class III storm				
		sewer; complete as				
	2013	specified	Linear Feet	8.00	\$150.00	\$1,200.00
		Furnish and install 24"				•
		RCP Class III storm				
		sewer; complete as				
	2016	specified	Linear Feet	7.00	\$200.00	\$1,400.00
		Furnish and install			,	. ,
		standard storm sewer				
		manhole (4' diameter);				
	2201	complete as specified	Vertical Feet	13.00	\$875.00	\$11,375.00
		r		10.00	\$5.5.00	\$11,0.0.00

Contract 22-18 - Pratt Trail Re	construction (#	8277939)				
Owner: Oshkosh WI, City of	I					
Solicitor: Oshkosh WI, City o	<u> </u>					
John City o.	1			+		
Bid Opening: 09/19/2022 11:00	AM CDT					
Dia Opening. 07/17/2022 11:00	I			+		
					Advance Con	struction Inc
					Advance Con-	struction mc.
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install		2	V	
		standard storm sewer				
		manhole (6' diameter);				
	2203	complete as specified	Vertical Feet	2.90	\$2,044.00	\$5,927.60
	2203	Furnish and install	verticarrect	2.50	Ψ2,041.00	\$3,727.00
		standard storm sewer				
		inlet manhole (4'				
		diameter); complete as				
	2213	specified	Vertical Feet	14.90	\$1,000.00	\$14,900.00
	2213	Furnish and install Type 3	verticarrect	14.50	ψ1,000.00	Ψ14,700.00
		inlet (with 18" sump);				
	2237	complete as specified	Each	18.00	\$4,000.00	\$72,000.00
	2237	Furnish; install; maintain;	Lacii	10.00	Ψ4,000.00	Ψ7 2,000.00
		and remove Type D				
		modified inlet protection;				
	2508	complete as specified	Each	46.00	\$100.00	\$4,600.00
	2308	Sediment removal - Type	EdCII	40.00	\$100.00	φ4,000.00
		D modified inlet				
		protection; complete as				
	2510	specified	Each	46.00	\$5.00	\$230.00
	2310	Furnish; install; maintain;	EdCII	40.00	φ3.00	\$230.00
		and remove stone bag;				
	2516	complete as specified	Eash	20.00	\$20.00	\$400.00
	2516	Abandon 8" - 12" storm	Each	20.00	\$20.00	\$400.00
		sewer; complete as				
	2800	-	Linear Feet	35.00	\$13.00	\$455.00
	2800	specified Connect to existing storm	Linear reet	33.00	\$13.00	\$433.00
		sewer main; complete as				
	2850	specified	Each	9.00	\$800.00	\$7,200.00
	2650	Connect to existing storm	Eacn	9.00	\$000.00	\$7,200.00
		sewer manhole; complete				
	2056	_	Each	2.00	\$800.00	¢1 600 00
	2856	as specified Storm sewer utility line	Eacn	2.00	фо00.00	\$1,600.00
		opening (ULO); complete				
	2914		Each	2.00	\$700.00	\$1,400.00
	2914	as specified Excavation special	Eacn	2.00	\$700.00	\$1,400.00
	1	(storm); complete as				
	2950	specified	Tons	150.00	\$20.00	\$3,000.00
	2930	эрссиеч	10115	150.00	\$20.00	φ3,000.00

9/19/2022

Contract 22-18 - Pratt Trail Re	construction (#	2277020)				
Owner: Oshkosh WI, City of		5277939)				
Solicitor: Oshkosh WI, City o						
Solicitor: Oshkosh W1, City o	<u> </u>					
Bid Opening: 09/19/2022 11:00	0 AM CDT					
Bid Opening: 09/19/2022 11:00	O AWI CDI					
	<u> </u>				Advance Con	struction Inc
	<u> </u>				Advance Con	struction mc.
	<u> </u>					
Section Title	Item Code	Item Description	UofM	Quantity	Unit Price	Extension
		Furnish and install		~ ,		
		standard sanitary sewer				
		manhole (2' diameter);				
	3113	complete as specified	Each	2.50	\$1,000.00	\$2,500.00
		Furnish and install			•	•
		sanitary sewer external				
		manhole chimney seal;				
	3114	complete as specified	Each	2.00	\$860.00	\$1,720.00
		Furnish and install				
		sanitary sewer external				
		manhole chimney seal				
		extension; complete as				
	3116	specified	Each	1.00	\$500.00	\$500.00
		Furnish and install 4"/6"				
		Schedule 80 sanitary				
		sewer lateral (relay);				
	3250	complete as specified	Linear Feet	100.00	\$120.00	\$12,000.00
		Closed circuit televising -				
		using push camera;				
	3710	complete as specified	Each	1.00	\$2,500.00	\$2,500.00
Bid Total:						\$1,173,114.25

9/19/2022